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Section-A
Attempt any two questions. Each question carries ten marks. (2 X 10=20 marks)

I What is meant by Cost Ascertainment? How does Job Costing differ in technique and procedure
from Batch costing? (3 marks+7 marks)

II. S.R.Ltd has to supply 2,40,000 units of a component “Wizzo” annually for its valued customer
Goenka. The Company has been producing 20,000 units per month by having 12 runs per annum.

2 1 per annum.
1. What is the Economic Batch Size?
2. Should the Company continue producing 20,000 units per batch or should it adopt
Varun’s suggestion?
3. For least cost, how many batches should be run in a year?
4. What will be the total associated cost, i.e., Set Up Costs and Carrying Costs per

annum, if EBQ is adopted? (2.5marks+2.5marks+2.5marks+2.5marks)
I1. The following is the summarised information relating to contract account number 100:
&
Contract price 6.00,000
Wages 1,64,000
General Expenses 8,600
Materials 1,20,000
Cash received (80% of certified work) 2,40,000
Materials at site 10,000
Plant 20,000

Included in the above information are wages T 3,500; materials 3 4,000; and other expenses ¥

2,500 which were incurred since cerulication. Depreciate plant at 102,
Prepare Contract A/c No. 10( ; (10 marks)
IV.  Explain the mean ng of service costing and service ¢ i analysis, (10 marks)
Section-B
Atiempt any two questions. Each question carries ten marks N ek

V.  Whatis Activity Based C osting? Distinguish between activity based costing and traditional

costing. 3 marks+7 marks)
VL. What do you mean by cost management system? Explair. various factors affecting cost B
: management system. (3 marks+7 marks)

VI The product of a manufacturing concern passes through two processes A and B and then to
finished stock. It is ascertained that in each process normally 5% of the total weight is lost
and 10% is scrap which from Processes A and B realizes Z 80 per ton and ¥ 200 per ton

respectively. The following are the fi gures relating to both the processes:




IX.
a)
c)
d)
€)

g)

Process A Process B

Materials in tons 1,000 70
Cost of materials per ton in rupees 125 200
Wages in rupees 28,000 10,000
Manufacturing expenses in rupees 8,000 ' 5,250
Output in tons 830 780

Prepare Process Cost Accounts showing cost per ton of each process. There was no stock
or work-in-progress in any process. Pt/ (10 marks)

The financial books of a company show a net profit of Z 1,27,560 for the year ending 31st
Dec. 2003. The Cost Account shows a net profit of ¥ 1,33,520 for the same corresponding
period. Prepare reconciliation account with the following facts:

InZ

Factory overhead under recovered in costing A/C 11,400
Administration overhead over recovered in costing A/C 8,500

Depreciation charged in financial accounts 7,320
Depreciation recovered in cost A/C 7,900
Interest received but not included in cost A/C 9,00
Income Tax debited in financial A/C 1,200
Bank interest credited financial A/C 460
Stores adjustment credited in financial A/C 840
Rent charged in financial A/C 1,720
Dividend paid recorded in financial A/C 2,400

Loss of obsolescence charged in financial A/C 520 (10 marks)
Section-C .

Attempt any ten parts. Each part carries three marks. (10 X 3=30 marks)

Retention Money

Service cost unit

Treatment of ‘Abnormal Loss’ in Process Costing

Notional Profit

Objectives of cost accounting

Work -in- Process

From the following information, prepare only an estimate for selling price of Job No. 150:

4
Direct materials consumed 1,000
Direct wages paid 2,000
Factory expenses 60% on wages
Office expenses 20% on factory cost

The tender should include a profit of 20% on selling price.

h) Compute the Economic Batch Quantity for a company using batch costing with the following

information:
Annual demand for the component i 2,000 units
Setting up cost %100

Carrying cost per unit 210



- = — - “1 -
W While reconciliation between cost and financial accounts, state with reasons, in

each of the following circumstances whether costing profit will be higher or lower than
the financial profit:

Items of stock ' Cost valuation | Financial valuation |

Raw material(opening) %50,000 % 60,000

Work in progress(closing) % 60,000 % 50,000

Finished Stock (opening) | 260,000 1 250,000 |
j) The total joint cost of products A, B, and C. till the split of point is ¥ 140. The market

k)

. -

price of these products is X 60, X 90, and X 120 respectively. Costs of manufacture
beyond the split of point are X 20 in case of product A, X 10 in case of productF % 30in
case of product C. You are required to apportion the joint costs according to the market
value at the split off point.

The yield of a certain process is 80% as to the main product,15% as to the by-product
and 3% as to the process loss. The material put in process (5000 units) cost X 23.75 per
unit and all other charges are 214,250 out of which power cost accounted for 33.33%.
It is ascertained that power is chargeable as to main product and byproduct in the ratio
of 10:9. Draw up a statement showing the cost of the byproduct.

In process A 4,000 units were introduced during January, 2017. 1,000 units 40%
complete in all respects remained as closing work-in-progress at the end of the month.
Total process costs during the month were %10,200. Compute the Equivalent
production and ascertain the cost of work-in-progress.
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I TYAG I | IS YAS 10w IS (2X10=20)

11

913 forfa3ar 3 & = I? 29 B3 Y=y 3 398 W3 Yfsfanr o 637 813
ygg for 397 5 37 ( 3 g7 Wid)

wUE SgHR Irae differ B8 wirwg. feHfez fog 391 C fod A% © 2,40,000
gfse yg3t i3t 1 12 36 Y=t ArEer €9 &' SUdt 20,000 Hise Y3t Hdles der
I JI forer e 3 WEH9 Tgs Ffder I ¥ deeg 5,000 gfee '3 I wrget
TIE I W3 48 29 Y AEe I8¢ TOe Jol I6 Y femer 3 dudt § AEY
fe§, fd3r I & g=39 B3 Y3t 29 75 gue Y3 98 I 3 udole & a3 &=t
gfee 1 gue YFt s JI

. WIfEd 59 wWag o 97

dr dudt § 20,000 gioe Yt 29 dewd A< I TUiEr I F Td6 °F ASW
U e g 37

ufe 3 Ui 393 B, fog As K9 & S 958 gdie 957

38 Afgueh B3 St I, iR I g539 913 W3 It Aser udgge 8913 7 EBQ

WS TJeT 97 (2.5 2T +2.5 nig+ 2.5 nid+2.5 i)

fegaigaH waIrge &5 100 &8 HEO3 I Bt Ay Areardt o

gug
frag g i3 6,00,000
EEL) 1,614,000

OIS HI9 8,600



AHS 1,20,000

&IE U3 (IR e S T 80%) 2,40,000
H 2 AHS 10,000
Ugre 20,000

Sug fot Frearat &g BfHs 3k 236 3,500 JUE, ANS 4,000 JUE W3
TAI H99 2,500 JU? A3 3RS 3 §ME I3 7G| 10% 3 HB-WET UBE A/C

&84 100 T fedggeH 39 &3 (10 Wid)
b, HIfer B33 yHa w3 AIfeA S913 feadae € waw & fanrfimi 5131 (10 wle)
I

A B YHS 31 I YHS © 10 wiF TS| (2X10=20)

5. STt worfdz B3 YEg o 37 JSifedt wiarfas 83 y=u w3 Judws &9
Yy &g nizg enl (3 Wig+7 nia)

6. B3 =0 yorEt 3 399" & 32 I? 9B YH YErEl § i g96 7% -
2 33 T forfemr 31 C 3+ )

7 fog Geued Aedg © §3uT § A »3 B T YfSfonre’ &9 dw R 3wg Aed 39

ydge Jer J1 fog uzr sarGe ger J 3 99 Yfafonr 9 5% 98 99 We AT J
w3 10% IS HS J1 fagT fafonret T a9 80 JuB Y3t @6 W3 200 JuE
Y3t 2o St Yfafanret &% Heuz v fon yd'g 3

yffamr A yfafanr B
G T feg 1000 70
yItes AHs S a3 gue feg 125 200
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gue feg s 28,000 10,000

fsarHE yog gue f&g 8,000 5,250
g3uTs o feg 830 780

IS Yfafamr &t Yyt @5 B913 four 3 yfsfonr &3 v fawrg 531 ol yfafanr
ST Aes 7 9% fogr oH &t (10 ")

8. fo Sudt 2 fe3t =3 31 THET 2003 § H3H JE T FE B 1,27,560 JUD
ef@aatrmfébr@éa?ﬂmwwﬁmﬂﬁwulszo@@?w
&g fodrger 31 I 59 331 Af3 e As-318 fonvg a3

que 39
I3 YET fgAe €9 vz yu3 3f03 d5edt euad uas 11,400
B3 Yy fgAe €9 ¥7 yu3 8u9 Yirs Guad vas 8,500
23t Bfemit R9 s-wer ygo 7,320
B3 farre f9 ¥g-wer yuz iz 7900
fenre Yz g ug B3 s g whis oot dtr 900
123t fomme f&g wHes 297 Seurdt 12,00
&3t forrs fg g fanra m 460
fe3t farms ffg AT weamie Sserat 840
&3t forrg S5 fagrfmr ugg 1,720
&3t fomrs 3 3833 go3s foargw 2,400
feSt fomrs 198 »yess @ W & bgg 520

(10 i)
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9. et 10 I I IS YIS © 3 i TIal (10X3=30m=)
W

2. AJfer B3 gfee

3. yfsfanr 8913 Ysg &g wagfes W' T Y=g

L. WSHTSS B9

5. T3 JYFE € G

6. yfsfanr &g aH

3 I &t Frearat 3 {37 399 150 T fead W3 B8 328 s waHs f3nrg a1
gue

AT A Hu3 1000

Ao 236 W3S 2000

CEGEIRECE ] ISHT '3 60%

SCECIRESE] IS B3 '3 20%

339 &9 fegdt W3 ' 20% ©F 89 S Je gt I

8. J5 foft Freardt 3 98 393 Ygu =93 F o dud B wafag 88 H3TT ©
ﬁﬁ'&’w@:

IR B8 A8 Hat 2000 gfee

gE3d B3 100 guU¥

10 gug
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9. T3 w3 3t Bt &g Tog A8 A, Jo it g99a A3 S8 a9t
ARI3 R 7 3913 ygu 579 &3t 379 &8 frimier HF Wie J=ar:

T HS (WIS 7N) 50,000 gue 60,000 JuUT
B IJ 9 T (8 595 A) | 60,000 JUB 50,000 U
g Aes (W99 AX) 60,000 U 50,000 gue
10. A, B3 C G3uT & g% ng &93, fig @ @¥g JT 3% 140 guE J fegst

E3ue B HgEie H3 FHTT 60 FUR, 90 FUB W3 120 FUB JI g B =dgr Je
3T gAT UH fsavre & 8913 A @3ue © 9F {9 20 guB, BE3Ue 2 ar &9 10
Jue, C g3ue B aF &g 30 QU I T Jt & fig 3 Hadic U8 © wgHT 7F
I3 & IR 91

1. fog yH yfafanr & dereg v §37UT © WEAT 80 e QU WaA'g 152 W3
yfsfanr we wigAg 5% J1 Yfafanr (5000 gfee) iR Ue AHs € 8413 23.75
gue Y3t gfse I w3 gt A9 HIY 14,250 JUE I st oo famdt a3
33.33% © fgAy o | ffig s sar@e I f3 famst 10.9 © waus Ko Wy
Sur w3 TE GuA WEFI THEUAT J1 JE GuH T 5913 four d fid Aeeis SEg

12. A fsfanr 9 #52dt 2017 896 4,000 Tise widg =13 a8 s € widlg €9
I8 IJ 3 @ e IT 3 1,000 Gse 40% AS W 3 US AG| HIIS T9s I8
YfSfanr 8913 10,200 JUE Fl A HE @3Ues T fgAS &8 w3 U8 JJ & ©f
B3 T YIS
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